Equal 9 step grey scaling betweeb* g3n=23.6 andL* y,v=95.5, Yoref=90.0, normalisation greyU

L*0an=23.6,L%0a=59.6,L* 0aw=95.5, Yoan=3-6, Yoa = 30.3, Yoan=90.0,Coay=Yoaw: Yoan=25.0
L*taN=53.4,L*1a=59.6,L*taw=70.9, Yan=23.6, Yta=30.3, Ytaw=45.4, Giay=Ytaw: Ytan=1.9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PAL* min] / [AL* max], L* TuBsrGB,w = 100 [Y/Y,][1/IN(A0)] with Y >= 0,3,Y,=100

0autYoref

9%= 99, g%g= 99 9%= 37, g%y= 30 9'%5= 83, g%=71
L* russrGB,Wntended output real output linearized output
1000 n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 116 L*la Al*la
()9 95 10 9.0 10: 709 1.0 454 10 70.9
; 32 2.1
8 865 0875 717 0.788 67.7 0.816 40.7  0.881 68.8
: 3.0 2.1
7 775 075 557 0.608 64.7 0.645 36.7 0.76 66.7
75+ : 2.7 2.1
6 685 0625 41.9 0443 62.0 0.489 332  0.64 64.6
3 24 21
@5 596 05 303 0309 59.6 0.351 30.3 0.52 62.5
: 2.1 2.1
50+ @4 506 0375 208 0199 57.5 0.232 279 0401 60.4
: 1.7 2.1
@: 46 025 133 0112557 0.133 26.0  0.283 58.4
1 1.3 2.1
@2 326 0125 76 0046544 0.055 246  0.164 56.3
251 3 1.0 2.9
@: 236 00 36 00534 00 236 00 53.4
0+ :
AL*0:=9.0 (=1,2,...,8) | normalisation: Yiaiu=Yoay J0ait Yoref

iea61-7n



